0002033906697999

o0 BULEHEXAY 0—0 ">

20134E M T B AR E 4

77 Ca k¥ 5.

D% ke X

Atco?0 = sin?0

co@r(1-sintg) = sl

. L ] e
. sin*8 = Y

0<t <% &I, sinb >0

6
(2) 2{ GAeos A= Sin dao =
0

2a5in@ * 2¢c0s6 =2

(1) &), 20° + - -
V&"—H 1)0_‘1—[

24 a1 = at2

@in 2% 17, 407+ 4
ca(3a-4)=0

4

aR>0F). Q= 3

— N

5

[}

(1) acos@=sin® omiNE 28 17

Sin @ = =

T Cos B = =

(1) CL & CyDEHED x % 0L T5E %, sin0 & cosO % a % HNTHEYE.
(2) C; & xiill, yCMENAZBIED, Coll XoTHBDEL W 220N dET 5.

alC

d,
T

4| axTFowiy L, By =acosz (og:cg%)aw‘—w;% Ci, My =sinx (ogx

i,g.‘z.

%)o)/f‘

A

a1

T
2
A cos L dx
0

_ . s
ZLﬂ.Sin?(-l- cos)é]o = [as‘mx]:

Ot 4at 4

ﬂ\“fﬁ‘} In .n\;

s

N1A




